Course Handicap Table

Forrester Park Golf and C-:ountry Club

Men's White Tees

Course I-?ating =69.3, §Iope ﬁating =124, Par= 71

100% 95%
Handicap | Course Handicap | Course Handicap | Playing Handicap | Playing
Index Handicap Index Handicap Index Handicap Index Handicap
1.1t0 2.0 0 28.5t029.3 30 1.1t02.0 0 29.9t030.8 30
21t02.9 1 29.4t0 30.2 31 21t02.9 1 30.9to0 31.7 31
3.0t0 3.8 2 30.3 to 31.1 32 3.0t0 3.9 2 31.8t032.7 32
3.9t04.7 3 31.2t0 32.0 33 4.0t04.9 3 32.8t033.6 33
4.8t05.6 4 32.1t032.9 34 5.0t0 5.8 4 33.7t0 34.6 34
5.7t06.5 5 33.0t0 33.8 35 5.9t06.8 5 34.7t0 35.6 35
6.6to0 7.4 6 33.9t0 34.8 36 6.9t0 7.7 6 35.7t0 36.5 36
7.5t08.3 7 34.9t035.7 37 7.81t08.7 7 36.6to 37.5 37
8.41t09.2 8 35.8 to 36.6 38 8.8t09.7 8 37.6t038.4 38
9.3t010.2 9 36.7t0 37.5 39 9.8t010.6 9 38.5t039.4 39
10.3to 11.1 10 37.6to0 38.4 40 10.7 to 11.6 10 39.5t040.3 40
11.2t012.0 11 38.5t039.3 41 11.7t012.5 11 40.4t0 41.3 41
12.1t012.9 12 39.4t040.2 42 12.6t0 13.5 12 41.4t042.3 42
13.0t0 13.8 13 40.3to0 41.1 43 13.6to14.4 13 42.4t043.2 43
13.9 to 14.7 14 41.2t042.1 44 14.5t015.4 14 43.3t044.2 44
14.8t0 15.6 15 42.21043.0 45 15.5t016.4 15 44.3 to 45.1 45
15.7t0 16.5 16 43.11t043.9 46 16.5to 17.3 16 45.2 to 46.1 46
16.6to17.4 17 44.0 t0 44.8 47 17.4t018.3 17 46.2 t0 47.1 47
17.5t018.4 18 44.9 to0 45.7 48 18.4t019.2 18 47.2t048.0 48
18.6t019.3 19 45.8 to0 46.6 49 19.3 t0 20.2 19 48.1 t049.0 49
19.4 t0 20.2 20 46.7t0 47.5 50 20.3to0 21.2 20 49.1 t049.9 50
20.3t0 21.1 21 47.6 to 48.4 51 21.3to 22.1 21 50.0 to 50.9 51
21.2t022.0 22 48.51049.3 52 22.2t0 23.1 22 51.0to 51.9 52
22.1t022.9 23 49.4 t0 50.3 53 23.2t024.0 23 52.0t0 52.8 53
23.0t0 23.8 24 50.4 to 51.2 54 24.1t0 25.0 24 52.9t0 53.8 54
23.9t024.7 25 51.3 to 52.1 55 25.1t0 26.0 25 53.9t0 54.0 55
24.8t0 25.6 26 52.2t0 53.0 56 26.1to0 26.9 26
25.7 to 26.6 27 53.1t0 53.9 57 27.0to 27.9 27
26.7 to 27.5 28 54.0 58 28.0to 28.8 28
27.6to0 28.4 29 28.9 t0 29.8 29

If you want to calculate your course handicap, the calculation is shown below:-

Course Handlicap

Handicap Index x (Slope Rating / 113) + (Course Rating — Par) = Course Handicap
30 x (124/113) + (69.3-71) = 31.2203539823 (rounded down = 31)

Playing handicap e.g 95 %
Handicap Index x (Slope Rating / 113) + (Course Rating — Par) x 95% = Playing Handicap
(eg. unrounded course handicp x 95%,)

31.2203539823 x 95% = 29.6593 (rounded up = 30)

Note :- if you used the rounded course handicap to get your playing handicap, this would result in a
different INCORRECT playing handicap. 31X95% = 29.45 (rounded down= 29)




Course Handicap Table

Forrester Park Golf and C-:ountry Club

Men's Yellow Tees

Course I-?ating =68.3, §Iope ﬁating =123, Par= 71

100% 95%
Handicap | Course Handicap | Course Handicap | Playing Handicap | Playing
Index Handicap Index Handicap Index Handicap Index Handicap
1.2t0 2.0 +1 27.0to0 27.7 27 1.2t01.9 +1 28.2t029.0 27
21t02.9 0 27.8t028.6 28 20to2.9 0 29.1t0 30.0 28
3.0t0 3.8 1 28.7t029.5 29 3.0t0 3.9 1 30.1to0 31.0 29
3.9t04.7 2 29.6 to 30.5 30 4.0t04.8 2 31.1t031.9 30
4.8t05.6 3 30.6to 31.4 31 49t05.8 3 32.0t0 32.9 31
5.7t0 6.6 4 31.6t032.3 32 5.9t06.8 4 33.0t0 33.9 32
6.7t0 7.5 5 32.4t033.2 33 6.9to 77 5 34.0to0 34.8 33
7.6t08.4 6 33.3t0 34.1 34 7.8108.7 6 34.9t035.8 34
8.5t09.3 7 34.2t0 35.0 35 8.8t09.7 7 35.9t036.8 35
9.4t010.2 8 35.1t0 36.0 36 9.8t010.7 8 36.9to0 37.7 36
10.3to 11.2 9 36.1 to 36.9 37 10.8t0 11.6 9 37.8t038.7 37
11.3t012.1 10 37.0t0 37.8 38 11.7t012.6 10 38.8t0 39.7 38
12.2t013.0 11 37.9t040.6 39 12.7t013.6 11 39.8t040.6 39
13.1t013.9 12 40.7to 41.5 40 13.7t0 14.5 12 40.7 to 41.6 40
14.0 to 14.8 13 41.6t042.4 41 14.6 to 15.5 13 41.7t042.6 41
14910 15.8 14 42.51043.3 42 15.6 t0 16.5 14 42.7t043.5 42
15.9t0 16.7 15 43.4t0 44.2 43 16.6 to17.4 15 43.6 to 44.5 43
16.8t017.6 16 44.3 t0 45.1 44 17.5t018.4 16 44.6 to 45.5 44
17.7t0 18.5 17 45.2 t0 46.1 45 18.5t019.4 17 45.6 to 46.4 45
18.6 t0 19.4 18 46.21047.0 46 19.5t0 20.3 18 46.5t0 47.4 46
19.5 t0 20.3 19 47.11t047.9 47 20.4to021.3 19 47.5t048.4 47
20.4t021.3 20 48.0 t0 48.8 48 21.4t022.3 20 48.5t049.3 48
21.4t022.2 21 48.9 t0 49.7 49 22.4t023.2 21 49.4 t0 50.3 49
22.3to0 231 22 49.8 to 50.7 50 23.3t024.2 22 50.4 to 51.3 50
23.2t024.0 23 50.8 to 51.6 51 24.3to0 25.2 23 51.4 to 52.2 51
24.1t024.9 24 51.7to0 52.5 52 25.3 to 26.1 24 52.3t053.2 52
25.0t025.9 25 52.6 to 53.4 53 26.2to 27.1 25 53.3t0 54.0 53
26.0 to 26.9 26 53.5 to 54.0 54 27.2 to 28.1 26

If you want to calculate your course handicap, the calculation is shown below:-

Course Handlicap

Handicap Index x (Slope Rating / 113) + (Course Rating — Par) = Course Handicap
29.0 x (123/113) + (68.3-71) = 28.86637168 (rounded up = 29)
Playing handicap e.g 95 %

Handicap Index x (Slope Rating / 113) + (Course Rating — Par) x 95% = Playing Handicap
(eg. unrounded course handicp x 95%,)

28.86637168 x 95% = 27.423 (rounded down = 27)

Note :- if you used the rounded course handicap to get your playing handicap, this would result in a
different INCORRECT playing handicap. 29X95% = 27.55 (rounded up = 28)




Course Handicap Table

Course Rating = 67.3, Slope Rating =118, Par =71

Forrester Park Golf and Country Club

100% 95%
Handicap | Course Handicap | Course Handicap | Playing Handicap | Playing
Index Handicap Index Handicap Index Handicap Index Handicap
1.2t0 2.1 +2 28.0to0 28.9 26 1.1t02.0 +2 29.3 t0 30.2 26
2.2t03.0 +1 29.0t0 29.8 27 21t03.0 +1 30.3t031.2 27
3.1t0 4.0 0 29.9t030.8 28 3.1t04.0 0 31.3t032.2 28
4.1t04.9 1 30.9 to 31.7 29 41t05.0 1 32.3t033.2 29
5.0t0 5.9 2 31.8t0 32.7 30 5.1t06.0 2 33.3t034.2 30
6.0t0 6.8 3 32.8to0 33.7 31 6.1t0 7.0 3 34.3t035.2 31
6.9t0 7.8 4 33.8t034.6 32 7.1108.0 4 35.3t036.3 32
7.9t08.8 5 34.7t035.6 33 8.1t09.0 5 36.4t037.3 33
8.9t09.7 6 35.7t0 36.5 34 9.1t010.0 6 37.4t038.3 34
9.8t010.7 7 36.6t0 37.5 35 10.1 to 11.1 7 38.4t039.3 35
10.8t011.6 8 37.6t038.4 36 11.2to12.1 8 39.4t040.3 36
11.7t012.6 9 38.5t039.4 37 12.2t013.1 9 40.4t041.3 37
12.7t013.5 10 39.5t040.4 38 13.2to 14.1 10 41.4t042.3 38
13.6 to 14.5 11 40.5t041.3 39 14.2t0 15.1 11 42.4t043.3 39
14.6 to 15.5 12 41.41042.3 40 15.2t0 16.1 12 43.4t0 44.3 40
15.6 to 16.4 13 42.4t043.2 41 16.2t017.1 13 44.4t0 45.3 41
16.5t017.4 14 43.3t0 44.2 42 17.2t0 18.1 14 45.4 t0 46.3 42
17.5t018.3 15 44.3 t0 45.1 43 18.2t0 19.1 15 46.4t047.3 43
18.4t019.3 16 45.2 t0 46.1 44 19.2 to 20.1 16 47.4t048.4 44
19.4 t0 20.3 17 46.2t047.1 45 20.2to0 21.1 17 48.5t049.4 45
20.4t021.2 18 47.21048.0 46 21.2t022.2 18 49.5t0 50.4 46
21.3t022.2 19 48.11049.0 47 22.3 to 23.1 19 50.5t0 51.4 47
22.3t0 231 20 49.1t049.9 48 23.2t024.2 20 51.5t052.4 48
23.2t0 241 21 50.0 to 50.9 49 24.3to0 25.2 21 52.5t053.4 49
24.2t025.0 22 51.0to 51.9 50 25.3t0 26.2 22 53.5t0 54.0 50
25.1t0 26.0 23 52.0to0 52.8 51 26.3 to 27.2 23
26.1to 27.0 24 52.9t0 53.8 52 27.3t0 28.2 24
27.1t027.9 25 53.9 to 54.0 53 28.3t0 29.2 25

If you want to calculate your course handicap, the calculation is shown below:-

Course Handlicap

Handicap Index x (Slope Rating / 113) + (Course Rating - Par) = Course Handicap
29 x (118/113) + (67.3-71) = 26.583185840708 (rounded up = 27)
Playing handicap e.g 95 %

Handicap Index x (Slope Rating / 113) + (Course Rating - Par) x 95% = Playing Handicap
(eg. unrounded course handicp x 95%)
26.583185840708 x 95% = 25.2540265486726 (rounded down = 25)

Note :- if you used the rounded course handicap to get your playing handicap, this would result in a

different INCORRECT playing handicap. 27X95% = 25.65 (rounded up = 26)




